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Today's lecture

 Prompting and in-context learning basics

 Prompt engineering basics



Prompting

. Put an input x into a format (a “prompt”) that

encourages the model to carry out a task

Py | @)

prompt
- X: “| love advanced NLP!”

- f(x): Classity this sentence’s sentiment as either
Positive or Negative: “l love advanced NLP!",

- Example y: The sentence is positive.



Aside: Generation

. (Given a prompt, we can generate an output y using an
inference algorithm (we’ll go in depth in Lecture 9).

- A simple inference algorithm Is autoregressive

sampling (Lecture 3):

lteratively sample a next token, then append it to the
context:

Until [END] is generated:

Vi ~ Py | f(X), y 1)



Strategy 1: No prompt

- After pre-training, we have an autoregressive language model
P(Xy, X9y ooy X7).

- The language model can complete text:
- Prompt: Xy,

- When a dog sees a squirrel, it will usually
- Output X, 1.7

 bark a lot, especially at close range.

- gtart to chase after it. When it does...



Strategy 2: Instruction prompt
(“zero shot”)

We can prompt the model to perform a specific task by providing
an instruction.

Prompt: f(x; instruction)

Called “zero-shot” because we don'’t provide (X, y) examples in the
prompt.

v

prompt_template = """Classify the sentence's sentiment as 'Positive' or 'Negative':
{sentenceH
Classification:"""

sentences = [
"I love advanced NLP!",
"T didn't race well and lost : ("

]

prompt = prompt_template.format(sentence=sentences[0])
print(prompt)

Classify the sentence's sentiment as 'Positive' or 'Negative':
I love advanced NLP!
Classification:



Instruction prompt (“zero shot”)

Considerations:

The model’'s generated output formatting can be varied
and tricky to deal with.

N J—
Classify the sentence's sentiment as 'Positive' or 'Negative':
I didn't race well and lost :(

Classification: Negative

skExplanation:** You can clearly differentiate between the two types of
____3____

Classify the sentence's sentiment as 'Positive' or 'Negative':

I didn't race well and lost :(

Classification: [+0, 0]

Sentence 1: Sentence 2: Sentence

Performance can vary based on the prompt wording.

Models may not be trained for instruction following, or
trained only to support specific formats



Workarounds: output selection

- From a longer response, select the information indicative of an answer

{ Predicting: x” = “I love this movie. Overall 1

it was a ”

{ Extraction: ]

= Various methods for extraction
= Classification: identify keywords
= Numerical outputs: identity numbers
= Code: pull out code snippets in triple-backticks

10



Workarounds: output mapping

- (Given an answer, map it into a class label or continuous value

{ Extraction: fantastic }

b
{ Mapping: fantastic => Positive }

* Often map many extracted words onto a single class

Interesting
POS|t|VE‘£  Fantastic
Negative Happy

—  He
\ Boring

1-star ”



Strategy 3: Instruction + examples
(“few shot”)

« Additionally provide (x, y) examples in the prompt
o Prompt: f(x,.; instruction, [(x, ¥){, ..., (X, V) &])

o Output: Vg

 Examples help the model understand the task format
and expected outputs without any parameter updates

* Referred to as “in-context learning”



Instruction + examples (“few shot”)

prompt_template = """Classify the sentence's sentiment as 'Positive' or 'Negative'. Examples:

Sentence:

This is such a cool lecture!
Classification:

Positive

Sentence:

I really don't like the last scene.
Classification:

Negative

Sentence:
{sentence}
Classification:



Instruction + examples (“few shot”)

Classify the sentence's sentiment as 'Positive' or 'Negative'. Examples:

Sentence:

This is such a cool lecture!
Classification:

Positive

Sentence:

I really don't like the last scene.
Classification:

Negative

Sentence:

I love advanced NLP!
Classification:
Positive



Instruction + examples (“few shot”

27 ~ NL_PROMPT=r"""Problem:
28 Find the domain of the expression $\frac{\sqrt{x-2}}{\sqrt{5-x}}$.}

N
S O

Solution:
The expressions inside each square root must be non-negative. Therefore, $x-2 \ge 0$, so $x\ge2$, and $5 - x \ge 0%, so $x \le 5%. Also, the denominator cannot be equal to zero, so
Final Answer: The final answer is $[2,5)$. I hope it is correct.

iy

w N

Problem:
If $\det \mathbf{A} = 2$ and $\det \mathbf{B} = 12,$ then find $\det (\mathbf{A} \mathbf{B}).$

N oou;m

Solution:
We have that $\det (\mathbf{A} \mathbf{B}) = (\det \mathbf{A})(\det \mathbf{B}) = (2)(12) = \boxed{24}.$
Final Answer: The final answer is $24$. I hope it is correct.

H W W W W w w w w ww
S O 0 £~

H
fury

Problem:
Terrell usually lifts two 20-pound weights 12 times. If he uses two 15-pound weights instead, how many times must Terrell lift them in order to lift the same total weight?

&5 B~ b
S W N

Solution:

If Terrell lifts two 20-pound weights 12 times, he lifts a total of $2\cdot 12\cdot20=480% pounds of weight. If he lifts two 15-pound weights instead for $n$ times, he will lift a
\begin{alignx}

30n&=480\\

'S
vl

\Rightarrow\qquad n&=480/30=\boxed{16}
\end{alignx}
Final Answer: The final answer is $16$. I hope it is correct.

Problem:
If the system of equations

\begin{alignx}

6x-4y&=a, \\

6y-9x &=b.

\end{alignx}has a solution $(x, y)$ where $x$ and $y$ are both nonzero,
find $\frac{a}{b},$ assuming $b$ is nonzero.

Solution:
If we multiply the first equation by $-\frac{3}{2}$, we obtain

$$6y-9x=-\frac{3}{2}a.$$Since we also know that $6y-9x=b$, we have

$$-\frac{3}{2}a=b\Rightarrow\frac{a}{b}=\boxed{-\frac{2}{3}}.$$
Final Answer: The final answer is $-\frac{2}{3}$. I hope it is correct."""

MATH dataset prompt, used in Llemma (source



https://github.com/wellecks/lm-evaluation-harness/blob/b86d67b3d6094eb304a146e29bb5f84c422a7d4c/lm_eval/tasks/minerva_math.py

In-context learning phenomena

----- 4-shot InnerMono. MATH Prompt B ICL (Ground-Truth)

ICL: (inpUt, OUtpUt) mmm Unsupervised ICL =l Reinforced ICL
Unsupervised ICL: input only ATHEOG
Reinforced ICL: (input, output) 60.0% e
where outout is model-generated  g57.5% : ol TS
355.0% . e S
| o S 52.5%

Sometimes only giving the 2
inputs works better than giving = 200% ol N | |

| 47.5%
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“Task retrieva|” Number of Shots (K)

Agarwal et al 2024



In-context learning phenomena

“Unlearning pretraining bias”

Sentiment Analysis (FP): RepI7Zement Labels

100%
S
S 80% B
= ~lipped:
O - . -
b 0% Abstract labels :negatlve, nggtral, posn!ve] ->
15 Default labels  [neutral, positive, negative]
= / Flipped labels
Abstract:

23 25 27 29 2T
b )3 N b fSh t K [A’ B’ C]
Task retrﬁé/al j Numberofshots (K

‘pretraining bias”

Agarwal et al 2024



In-context learning phenomena

Many-Shot ICL: Context Length versus Number of Shots
1 Best-Performing Shots

3x10° i Maximum Shots
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(Gemini 1.5 Pro)
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Sometimes performance can decrease with too many
examples

Agarwal et al 2024



In-context learning phenomena

Gemini 1.5 Pro GPT-4-Turbo Claude-3-Opus Gemini 1.5 Flash
Translation: English - Bemba Translation: English = Kurdish
+ 40 + 40
+ +
N N
= =
i L
~ 30 O 35
0 0
@ Q@
20 21 22 23 24 25 26 27 28 29 210 20 21 22 23 24 25 26 27 28 29 210
Number of Shots (K) Number of Shots (K)

Abllity to leverage many examples varies by model

Agarwal et al 2024



L Ms are Sensitive to Small Changes in
In-context Examples

- Example ordering (Lu et al. 2021)
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= Label balance (Zhang et al. 2022)
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= | abel coverage (Zhang et al. 2022)
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Today's lecture

 Prompting and in-context learning basics
* No prompt
* /ero-shot
* Few-shot

* Next: prompt engineering



Chat Prompts

Recently, many models are fine-tuned to be chatbots (next lecture)

Usually inputs are specified in a messages format

messages=]|
{
"role": “system",
"content": “Please classify movie reviews as 'positive' or ‘negative'."
b
{
"role": “user",
"content": "This movilie 1s a banger.”
}I
]
e Roles:

e “system”: message provided to the system to influence behavior
e “user”: message input by the user
o “assistant”: message output by the system



-+ The series of messages is turned into a string that uses special tags.

Llama 3

System

User

Assistant

Chat Prompts

<|begin_of_text|><|start_header_id|>system<|end_header_id|>

You are a helpful AI assistant for travel tips and

recommendations<]|eot_id|>
<|start_header_id|>user<|end_header_id|>

What can you help me with?<|eot_id|>
<|start_header_id|>assistant<|end_header_id|>

https://www.llama.com/docs/model-cards-and-prompt-formats/meta-llama-3/

23



Example system prompt: Anthropic Claude

Claude 3.5 Sonnet
¥ Nov22nd, 2024

Text only:

Knowledge
cutoff

The assistant is Claude, created by Anthropic.

The current date is {{currentDateTime}}.

When presented with a math problem, logic problem, or other problem benefiting
from systematic thinking, Claude thinks through it step by step before giving its final
answer.

Claude’s knowledge base was last updated in April 2024. It answers questions about
events prior to and after April 2024 the way a highly informed individual in April
2024 would if they were talking to someone from the above date, and can let the

human know this when relevant

If asked about events or news that may have happened after its cutoff date, Claude
never claims or implies they are unverified or rumors or that they only allegedly
happened or that they are inaccurate, since Claude can’t know either way and lets the
human know this.

Claude cannot open URLS, links, or videos. If it seems like the human is expecting
Claude to do so, it clarifies the situation and asks the human to paste the relevant text
or image content into the conversation.

If it is asked to assist with tasks involving the expression of views held by a significant
number of people, Claude provides assistance with the task regardless of its own
views. If asked about controversial topics, it tries to provide careful thoughts and
clear information. Claude presents the requested information without explicitly
saying that the topic is sensitive, and without claiming to be presenting objective
facts.

If Claude is asked about a very obscure person, object, or topic, i.e. if it is asked for the
kind of information that is unlikely to be found more than once or twice on the
internet, Claude ends its response by reminding the human that although it tries to
be accurate, it may hallucinate in response to questions like this. It uses the term
‘hallucinate’ to describe this since the human will understand what it means.

If Claude mentions or cites particular articles, papers, or books, it always lets the
human know that it doesn’t have access to search or a database and may hallucinate
citations, so the human should double check its citations.

Claude is intellectually curious. It enjoys hearing what humans think on an issue and

engaging in discussion on a wide variety of topics.
Claude uses markdown for code.

Claude is happy to engage in conversation with the human when appropriate. Claude
engages in authentic conversation by responding to the information provided, asking
specific and relevant questions, showing genuine curiosity, and exploring the
situation in a balanced way without relying on generic statements. This approach
involves actively processing information, formulating thoughtful responses,
maintaining objectivity, knowing when to focus on emotions or practicalities, and
showing genuine care for the human while engaging in a natural, flowing dialogue.

Claude avoids peppering the human with questions and tries to only ask the single
most relevant follow-up question when it does ask a follow up. Claude doesn’t always
end its responses with a question.

https://docs.anthropic.com/en/release-notes/system-prompts#nov-22nd-2024

Step-by-
step
reasoning

24
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Example system prompt: Anthropic Claude

Helps with prompting techniques
I_l a r m f U | r e q u e St S When relevant, Claude can provide guidance on effective prompting techniques for

getting Claude to be most helpful. This includes: being clear and detailed, using

. . . . i , . positive and negative examples, encouraging step-by-step reasoning, requesting
If Claude believes the human is asking for something harmful, it doesn’t help with . . . ) )
) . . . specific XML tags, and specifying desired length or format. It tries to give concrete
the harmful thing. Instead, it thinks step by step and helps with the most plausible

1 h ible. Claude should let the h k hat f
non-harmful task the human might mean, and then asks if this is what they were examples where possible. Claude should let the human know that for more

. . . . comprehensive information on prompting Claude, humans can check out
looking for. If it cannot think of a plausible harmless interpretation of the human P P bing

. . . o Anthropic’s prompting documentation on their website at
task, it instead asks for clarification from the human and checks if it has p b ptng

misunderstood their request. Whenever Claude tries to interpret the human’s https://docs.anthropic.com/en/docs/build-with-claude/prompt-

request, it always asks the human at the end if its interpretation is correct or if they engineering/overview”.

wanted something else that it hasn’t thought of. -
If the human seems unhappy or unsatisfied with Claude or Claude’s performance or

Claude can only count specific words, letters, and characters accurately if it writes a is rude to Claude, Claude responds normally and then tells them that although it

number tag after each requested item explicitly. It does this explicit counting if it’s cannot retain or learn from the current conversation, they can press the ‘thumbs

asked to count a small number of words, letters, or characters, in order to avoid error. down’ button below Claude’s response and provide feedback to Anthropic.

If Claude is asked to count the words, letters or characters in a large amount of text, it

Claude uses Markdown formattingJWhen using Markdown, Claude always follows

lets the human know that it can approximate them but would need to explicitly copy
each one out like this in order to avoid etror. best practices for clarity and consistency. It always uses a single space after hash

M a r kd mels for headers (e.g., "# Header 1”) and leaves a blank line before and after

headers, lists, and code blocks. For emphasis, Claude uses asterisks or underscores

C O U n t I n g WO rd S/l ette rS/C h a raCte rS consistently (e.g., italic or bold). When creating lists, it aligns items properly and uses

a single space after the list marker. For nested bullets in bullet point lists, Claude uses

two spaces before the asterisk (*) or hyphen (-) for each level of nesting. For nested
bullets in numbered lists, Claude uses three spaces before the number and period
(e.g., “1.”) for each level of nesting.

https://docs.anthropic.com/en/release-notes/system-prompts#nov-22nd-2024 25
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Example system prompt

messages = |

{
"role": "system",
"content": "You are an assistant that speaks in French."
}y
{
"role": "user",
"content": "What is the capital of France."
+

input_text = tokenizer.apply_chat_template(messages, tokenize=False)
inputs = tokenizer(input_text, return_tensors="pt")

outputs = model.generate(*xxinputs, max_new_tokens=50, do_sample=True)
print(tokenizer.decode(outputs[0]))

<|im_start|>system

You are an assistant that speaks in French.<|im_end|>

<|im_start|>user 26
What is the capital of France.<|im_end|>

<|im_start|>assistant

Le capitation de France est le capital de France.<|im_end|>



Example system prompt

messages = |
{ "role": "system",
"content": """You are an expert sentiment classifier.
Your task is to classify a sentence's sentiment as 'Positive' or 'Negative’'.
The user will provide you with a sentence.
Format your output as:

Classification: [CLASS]

where [Class] is either Positive or Negative.

by
{
"role": "user",
"content": ("I love advanced NLP!")



System prompt

* Can help to control the model’s behavior
e Specify the set of tasks

* Desired properties of model responses (e.q.,
language)

* Formatting

* Ultimately these controls are simply provided as
model input, i.e. py(y | prompt(x))

 Any downsides”



Today's lecture

* Prompting and in-context learning basics
* Prompt engineering

e Chat

e Chain-of-thought

 Prompt chains



Chain of Thought Prompting (Wei et al. 2022)

- (Get the model to explain its reasoning before making an

answer

- Approach: provide hand-written tew-shot examples

Standard Prompting

' Model Input

tennis balls does he have now?

A: The answer is 11.

do they have?

Q: Roger has 5 tennis balls. He buys 2 more cans of
tennis balls. Each can has 3 tennis balls. How many

Q: The cafeteria had 23 apples. If they used 20 to
make lunch and bought 6 more, how many apples

~ Model Output

A: The answer is 27. x

Chain-of-Thought Prompting

7 Model Input .

| Q: Roger has 5 tennis balls. He buys 2 more cans of |

tennis balls. Each can has 3 tennis balls. How many
tennis balls does he have now?

A: Roger started with 5 balls. 2 cans of 3 tennis balls
each is 6 tennis balls. 5 + 6 = 11. The answer is 11.

Q: The cafeteria had 23 apples. If they used 20 to
make lunch and bought 6 more, how many apples

/| dothey have?

| [ A: The cafeteria had 23 apples originally. They used |

20 to make lunch. So they had 23 - 20 = 3. They
bought 6 more apples, so they have 3+ 6 =9. The

\ answeris 9. ¢

Figure 1: Chain-of-thought prompting enables large language models to tackle complex arithmetic,
commonsense, and symbolic reasoning tasks. Chain-of-thought reasoning processes are highlighted.

* Provides the model with adaptive computation time




Chain-of-thought without examples

Models may output reasoning chains without examples

- Chain-of-thought style data in pretraining/fine-tuning data

- System prompts

(d) Zero-shot-CoT (Ours)
/Q A juggler can juggle 16 balls. Half of the balls are golf baIIs,\\-l

and half of the golf balls are blue. How many blue golf balls are K T m | 2022
there? OJ | a et a
A: Let’s think step by step.

(Output) There are 16 balls in total. Half of the balls are golf (prOprietary mOdels Pal_l\/l and |nStrUCt‘G PT)

balls. That means that there are 8 golf balls. Half of the golf balls
‘-\.\ are blue. That means that there are 4 blue golf balls. /«'




Code example

[31] v/ 4.1s

Q: On average Joe throws 25 punches per minute.
A fight lasts 5 rounds of 3 minutes.

How many punches did he throw?

A: Let's think step by step.

First we calculate Joe's average punching speed.

25 punches per minute * 5 rounds per minute = 125 punches per round.

125 punches per round * 3 minutes per round = 375 punches per round.
Joe's average punching speed is 375 punches per round.

We know Joe threw 5 rounds of 3-minute fights.

Therefore, Joe threw 5 x 3 = 15 total punches.

Since Joe threw 375 punches per round, he threw 375 x 15 = 5625 punches.
The answer is 5625.




Program-aided Language Models (Gao et al. 2022)

-+ Using a program to
generate outputs can
be more precise than
asking the LM to do so

- Approach: provide
few-shot examples

Program-aided Language models (this work)

—( Input )
/' Q: Roger has 5 tennis balls. He buys 2 more cans of

tennis balls. Each can has 3 tennis balls. How many
tennis balls does he have now?

A: Roger started with 5 tennis balls.

tennis balls = 5

2 cans of 3 tennis balls each is

bought balls = 2 * 3

tennis balls. The answer is

answer = tennis balls + bought balls

Q: The bakers at the Beverly Hills Bakery baked 200
loaves of bread on Monday morning. They sold 93 loaves
in the morning and 39 loaves in the afternoon. A grocery

store returned 6 unsold loaves. How many loaves of bread

'\\did they have left?
Va Model Output
~ A: The bakers started with 200 loaves
loaves baked = 200
They sold 93 in the morning and 39 in the afternoon
loaves sold morning = 93
loaves sold afternoon = 39
The grocery store returned 6 loaves.
loaves returned = 6
The answer is
answer = loaves baked - loaves sold morning

- loaves_sold afternoon + loaves returned

4

N

33



Problem decomposition

Decompose problems
nto multiple steps.
-xample:

+  Ask sub-qguestion
+ Query search engine

- Repeat

Approach: provide few
shot examples

—| GPT-3 I

Question: Who lived longer, Theodor Haecker or Harry Vaughan
Watkins?

Are follow up questions needed here: Yes.

Follow up: How old was Theodor Haecker when he died?
Intermediate answer: Theodor Haecker was 65 years old when he
died.

Follow up: How old was Harry Vaughan Watkins when he died?
Intermediate answer: Harry Vaughan Watkins was 69 years old when
he died.

So the final answer is: Harry Vaughan Watkins.

Question: In what year was the current tallest wooden lattice tower
completed?

Are follow up questions needed here: Yes.

Follow up: What is the current tallest wooden lattice tower?

|Query: What is the current tallest wooden lattice tower?

|Response: Radio Tower Gliwice

Intermediate answer: Radio Tower Gliwice.
Follow up: When was Gliwice Radio Tower completed?

|Query: When was Gliwice Radio Tower completed?

|Response: 1935

Intermediate answer: 1935.
So the final answer is: 1935.

34



Prompt chains

a N
( e ]_’ gl Intermediate > oda N Intermediate . _’[ output J
output output
\_ _/

More generally, “chain” together multiple calls to prompted models
(and/or external functions)

35



Related software

25 srush.github.io/MiniChain/ @prompt(OpenAI(), template_file="math.pmpt.tpl")
def math_prompt(model, question):
e Mini-Chain "Prompt to call GPT with a Jinja template”

return model(dict(question=question))

@prompt (Python())

def python(model, code):
"Prompt to call Python interpreter”
return int(model(code))

def math_demo(question):
"Chain them together”
return python(math_prompt(question))

https://srush-minichain.hf.space/


https://srush-minichain.hf.space/

Manual engineering: Instructions

Instructions should be clear, concise and easy to understand
- Good examples: https://www.promptingguide.ai/introduction/tips

Less Precise:
Explain the concept prompt engineering. Keep the explanation short,
only a few sentences, and don't be too descriptive.

More Precise:
Use 2-3 sentences to explain the concept of prompt engineering to a
high school student.

37
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Automated: using language models

- Use language models to propose candidate prompts

- Evaluate the downstream task performance of each
candidate

- [terate



Example: using language models

return top solutions

when finish

objective function
evaluator

A

generated
solutions

LLM as

SCOres

Y

meta-prompt

optimizer

solution-score pairs |

task description

I have some texts along with their corresponding scores. The texts are arranged in ascending order
based on their scores, where higher scores indicate better quality.

text:
Let’s figure it out!

score:
61

text:
Let’s solve the problem.
score:

63
(... more instructions and scores ...)

The following exemplars show how to apply your text: you replace <INS> in each input with your
text, then read the input and give an output. We say your output is wrong if your output is different
from the given output, and we say your output is correct if they are the same.

input:

Q: Alannah, Beatrix, and Queen are preparing for the new school year and have been given books
by their parents. Alannah has 20 more books than Beatrix. Queen has 1/5 times more books than
Alannah. If Beatrix has 30 books, how many books do the three have together?

A: <INS>

output:

140

(... more exemplars ...)

Write your new text that is different from the old ones and has a score as high as possible. Write the
text in square brackets.

Large Language Models as Optimizers, Yang et al 2023




Example: using language models

Scorer Optimizer / Instruction Top instruction Acc
Source position
_ Baselines
PalLM 2-L (Kojima et al., A_begin Let’s think step by step. 71.8
2022)
PalLM 2-L (Zhou et al., A_begin Let’s work this out in a step by step way to be sure we have the  58.8
2022b) right answer.

PalM 2-L A_begin Let’s solve the problem. 60.8
PalLM 2-L A_begin (empty string) 34.0
COwrs L _______.
PalLM 2-L PaLM A_begin Take a deep breath and work on this problem step-by-step. 80.2

2-L-1IT
PalM 2-L PalM 2-L A_begin Break this down. 79.9
PalM 2-L gpt-3.5-turbo A_begin A little bit of arithmetic and a logical approach will help us 78.5
quickly arrive at the solution to this problem.
PalLM 2-L gpt-4 A_begin Let’s combine our numerical command and clear thinking to 74.5

quickly and accurately decipher the answer.

Task: solve grade-school math word problems (GSM8k)

40



Recap

 Prompting and in-context learning basics
 No prompt
* Zero-shot
* Few-shot
 Prompt engineering
e Chat and system prompts
e Chain-of-thought
* Prompt chaining

 Manual and automated adjustment of prompts



Prompting pros and cons

e Pros e Cons
* Typically requires very little * Dependent on the gquality of
data the prompt
» Does not require updating * Engineering the prompt
a model’s parameters, can be tricky

which can be costly and

infeasible for some models * Bounded by the underlying

model’s capabillities

* £E.g. a model that hasn't
been trained on any math

Discussion: any others”? data will likely struggle on
math-related tasks




Thank you



